University College of the Cayman Islands

Department of Business Studies

ACC201 – Financial Accounting

Take-home assignment
Deadline:
Wednesday, October 19th, 2005, 8:30am 

Note – No late assignments will be accepted.

This is an individual assignment worth 10% of your final grade.
State any assumptions made

1. A company had stock outstanding as follows during each of its first three years of operations: 2,500 shares of $10, $100 par, cumulative, nonparticipating preferred stock and 50,000 shares of $10 par common stock.  The amounts distributed as dividends are presented below.  

	
	
	Preferred
	Common

	Year
	Dividends
	Total
	Per Share
	Total
	Per Share

	1
	$10,000
	_________
	_________
	_________
	__________

	2
	 25,000
	_________
	_________
	_________
	__________

	3
	 60,000
	_________
	_________
	_________
	__________




Required: Determine the total and per share dividends for each class of stock for each year by completing the schedule.

2. Required: Present entries to record the following:

	(a)
	Issued 1,000 shares of $15 par common stock at $52 for cash.

	(b)
	Issued 1,400 shares of common stock in exchange for equipment with a fair market price of $21,000.

	(c)
	Purchased 100 shares of treasury stock at $25.

	(d)
	Sold 100 shares of treasury stock at $28.


3. Required: Present entries to record the following selected transactions completed during the current fiscal year:

	Feb.  1
	The board of directors reduced the par of common shares from $100 to $20.  This action increased the number of outstanding shares to 500,000.

	
	

	     11
	Purchased 25,000 shares of own stock at $45, recording the treasury stock at cost.

	
	

	May   1
	Declared a dividend of $3 per share on the outstanding shares of common stock.

	
	

	     15
	Paid the dividend declared on May 1.

	
	

	Oct. 19
	Declared a 2% stock dividend on the common stock outstanding (the fair market value of the stock to be issued is $55).

	
	

	Nov. 12
	Issued the certificates for the common stock dividend declared on October 19.


4. The following accounts and their balances appear in the ledger on December 31 of the current year:

	Common Stock, $50 par
	$400,000

	Paid-In Capital in Excess of Par
	70,000

	Paid-In Capital from Sale of
	

	  Treasury Stock
	5,000

	Retained Earnings
	265,000

	Treasury Stock
	22,000


Required: Prepare the Stockholders' Equity section of the balance sheet as of December 31.  Twenty-five thousand shares of common stock are authorized, and 1,000 shares have been reacquired.
5. Required: Based on the following information, calculate the dividend yield on common stock:

	Market price per share
	$50.00

	Earnings per share
	10.00

	Dividends per share
	2.00

	Investor's cost per share (what was paid for it)
	40.00


6. During its first four years of operations a company elected to use different methods for determining the amount of particular expenses for tax purposes and for reporting purposes, with the following results:

	
	First Year
	Second Year
	Third Year
	Fourth Year

	Income before
	
	
	
	

	 income tax
	$20,000
	$50,000
	$62,100
	$ 84,000

	Taxable income
	  6,000
	 41,000
	 57,500
	 101,000


Required: Assuming an income tax rate of 40%, determine 
(a) the amount of income tax reported on the income statement for each year, 
(b) the amount of income tax that would be paid each year, and 
(c) the deferred income tax payable that would be reported on the balance sheet at the end of each of the four years.
7. Required: From the following data for Noll Company for the current fiscal year ended December 31, 
a. Prepare a multiple-step income statement. 
b. Also show earnings per share for the following: income from continuing operations, loss on discontinued operations (less applicable income tax), income before extraordinary item, extraordinary item (less applicable income tax), and net income.

	Common stock, $50 par
	$200,000

	Cost of merchandise sold
	252,000

	Administrative expenses
	48,250

	Income tax (applicable to continuing operations)
	142,000

	Interest expense
	3,750

	Loss on discontinued operations,
	

	 net of applicable tax of $2,700
	5,400

	Sales
	775,000

	Selling expenses
	83,000

	Uninsured flood loss, net of applicable
	

	 income tax of $4,500
	14,000


8. Required: Present entries to record the following selected transactions of Belton Co.

	(a)
	Purchased 500 shares of the 100,000 shares outstanding $10 par common shares of Denver Corporation for $5,100.

	
	

	(b)
	Purchased 2,000 shares of the 10,000 shares no par common shares of Reilly Co. for $45,600. The investment was accounted for by the equity method.

	
	

	(c)
	Received a cash dividend of $1 per share on the Denver Corporation stock acquired in (a).

	
	

	(d)
	Received a cash dividend of $2 per share on the Reilly Co. stock acquired in (b).

	
	

	(e)
	Sold 100 shares of the Denver Corporation shares acquired in (a) for $2,100.

	
	

	(f)
	Recorded the appropriate share of Reilly's Co. net income of $50,000.  


9. Required: Based on the following information for Company A and Company B:

	
	Company
	Company

	
	   A   
	   B   

	Market price per share
	$75.00
	$95.00

	Earnings per share
	 12.00
	  5.00

	Dividends per share
	  3.00
	   .10

	Investor's cost per share (The price the investor paid)
	 40.00
	 50.00


	(a)
	Calculate the price-earnings ratio for each company.

	(b)
	Assume that Company A and B are in the same industry. Which one is expected to have the greater growth and the more improved earnings? Why?


The End
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